Name:_____________________________________                                 Group:___________
First Occupants II: Economy
The Basics of Economics
___________________________________________________________________
___________________________________________________________________
1. Needs: _____________________________________________________________________
Examples: _____________________________________________________________________
2. Wants: _____________________________________________________________________
Examples: _____________________________________________________________________
Most economies rely on ____________________ and _______________________.
 Demand: _____________________________________________________________________
______________________________________________________________________________
Supply: _______________________________________________________________________
The First Occupants
Definitions:
Subsistence: ___________________________________________________________________
______________________________________________________________________________
Barter: ________________________________________________________________________ ______________________________________________________________________________
1. The First Nations had a ______________________________________.
What does that mean?
____________________________________________________________________________________________________________________________________________________________
What would be the difference between the economies of sedentary and nomadic groups?
____________________________________________________________________________________________________________________________________________________________
2. Iroquois:
a) Combined ______________________ , _____________________ and _____________________ to maintain their economy and way of life.
b) Their main crops included ____________, _____________, and _______________.
c) They were very __________________________________________.
3. Algonquin: 
a) Lived mainly by __________________, ___________________, and ______________.
b) They could not grow crops because ______________________________________.
c) This is the main reason for why the Algonquin groups were ____________________.
4. Trade:
Question:
Why do you think trade would have occurred between the Iroquois and Algonquin?
____________________________________________________________________________________________________________________________________________________________
a) The Iroquois would trade surplus _______________, __________________, _______________, __________________, _________________, and _____________.
b) The Algonquin would trade __________________, ____________________, ____________________, and _______________________.
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5. The arrival of Europeans:
a) In the __________ century, European ____________________________________ were set up along the ________________ of ________________________ and the Gulf of St-Lawrence.
They came into contact with ______________________________________ on the __________________ of the _____________________________________________________.
Effects on the People:
a) _____________________ and Amerindians __________________ with each other. There were now _____________________________________ circulating.
Ex: ________________, pots, glass, ___________, _________________ and other things made from metal.
b) In order to have something to trade with the _________________________, the Amerindians started to __________________________________________________________.
Question:
Do you think that the arrival of Europeans had a positive or negative effect on the Amerindians?
Why?
____________________________________________________________________________________________________________________________________________________________
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